52,3 x 0,1



Correction :

52,3 x 0,1 =5,23



4 x 0,25



4 x0,25=1



Polo achete 100 objets
identiques a (0,13 € piece.




0,13 x 100 =13
Polo depense 13 €.



Périmetre 81 cm




Périmetre 81 cm

81+9=9

La longueur du coté est 9 cm .






A

R I I I R

3 \‘ 3,1

L'abscisse du point A est 3.,07.



2.4 % 0,2



Correction :

24 x 2
2.4 % 0,2

2,4 est 10 fois plus
petit que 24.

0,2 est 10 fois plus
petit que 2.

0,48

2,4 x0,2 est 100 fois plus
petit que 24 x 2.






152 min= 2 h 32 min
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